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General Instructions :
Read the following instructions carefully and follow them :

(1) This question paper contains 30 questions. All questions are
compulsory.

(it) Question paper is divided into five Sections — Section A, B, C, D and E.

(iti) Section A — Questions no. 1 to 17 are Multiple Choice type questions.

Each question carries 1 mark.

(iv) Section B — Questions no. 18 and 19 are Source based questions. Each
question carries 3 marks.

(v) Section C — Questions no. 20 to 23 are Short Answer type questions.
Each question carries 3 marks. Answer to these questions shall be
written in 80 to 100 words.

(vt) Section D — Questions no. 24 to 28 are Long Answer type questions. Each
question carries § marks. Answer to these questions shall be written in
120 to 150 words.

(vit) Section E — Questions no. 29 & 30 are Map based questions. Each
question carries § marks.

(viir) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired
candidates only.

(ix) There is no overall choice given in the question paper. However, an
internal choice has been provided in a few questions in all sections other
than Section A.

SECTION - A
Question no. 1 to 17 are Multiple Choice Type Questions. (17 x 1 =17)

1. “Human geography is the synthetic study of relationship between human

societies and earth’s surface.” This definition of human geography is given

by . 1
(A) Vidal-de-la-Blache (B) Richard Hartshorne
(C) Ritter (D) Ratzel
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2. Trefafed # 9 -91 T fow 6 €9 1 e’ 1 e THR & ? 1
(A) e forator 3T 3geh! T9Iferd S aTel hieh] ol THZHT |
(B) HETE- oot 3TR 3ok IUANT o si= Gae bl THSMT |
(C) Tt ! WG h ST 3R Heh! TE-1Ial ohl HHSHT |
(D) et I STeh(ceh HETEHT 1 T 3R ITeh 3Tehet i THFHT |

3. afvEEETe’ i HehouAT o R I&d I TS | 1
A) gt (B) . duet
(C) Tuftrer 3o (D) TEIE

4. 9ol fowg 1 FrefoiRad et @ ergdes afeu 3R we fashed w1 =@ Shifvu 1

(i) IO T Sl e, 3ARA 3R WSRuT sl Faemd JeH i ¢ |

(ii) I % HET T 3TeheT 3oh I8 Tl o TR H foram STam 2 |

(iii) TRl T G TWTH ST STl HTeT <hl HTAT 36k I8 WeST o forehrel o T <l guic 7 |

(iv) o Tove SR < g YavgR 7 |

forepey

(A) e (D), (i) 3R (jii) & & |

B) I (i), (iii) 3 (iv) F& & |

(C) e (i), (ii) 3N (iv) G&1 2 |

(D) e (ii), (iii) 3N (iv) G 2 |

5. = g e fer mu # | A e (A) 3R SRE (R) B | gHT AT b1 SIHgEe afeu

IR & ferehed 1 =39 hifeT 1

AR (A) : ‘Tova SR TeT (WTO) TR <1l ol 37X 31feres 3fiv st 3R
e &% = @B S NS HE 2 |

ST (R)  : ‘Toma AR w1 (WTO) § THTaeiel! TP 379+ T3 o aniTiessh faal
T & ehigd id 2 |

ﬁw:

(A) THI (A) 7T (R) T 31 (R), (A) F Tl =men 2 |

(B) I (A) 7T (R) W& &, wifehd (R), (A) 1 U8l @ 181 & |
(C) (A) "& 3, difehd (R) T © |

(D) (A) T 8, WAfeh (R) 91 2 |

6. T e i qfd o fotu @&t foehed o1 == HifT | 1
SR o ToTU STTHTEAT3T bl GieH 1 H HETY AT AR |
(A) Hdferd SR (B) Tehdlh! SR
(C) ¥ AR (D) fguefia =MR
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2. Which one of the following is the core concern of geography as a discipline ? 1
(A) To understand population distribution and the factors affecting the
same.
(B) To understand the relationship between resource distribution and its
utilisation.
(C) To understand the earth as the home of human beings and its
sustainability.
(D) To understand the earth as the home of natural resources and their
estimation.
3.  The concept of ‘Neodeterminism’ was introduced by i 1
(A) Ehrlich (B) C. Semple
(C) Griffith Taylor (D) Humboldt

4. Read the following statements about ports carefully and choose the correct
option : 1
(1) The ports provide the facilities of loading, unloading and storage of cargo.
(1) The importance of ports is judged by the size of its hinterland.

(111) The quantity of cargo handled by a port indicates the level of
development of its hinterland.

(iv) Ports are the chief gateways of the world trade.

Options :

(A) only (1), 11) and (111) are correct.

(B) only (1), 111) and (iv) are correct.

(C) onmly (1), 11) and (1v) are correct.

(D) only (1), (111) and (iv) are correct.

5. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option : 1
Assertion (A) : ‘World Trade Organisation (WTO) is widening the gulf

between rich and poor by making rich countries richer.’
Reason (R) : ‘The influential nations in the WTO focus on their own
commercial interests.’
Options :
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(C) (A) 1s correct, but (R) 1s incorrect.
(D) (A) 1s incorrect but (R) 1s correct.

6. Choose the correct option to fill the blank. 1
The act of opening up economies for trading is known as
(A) Balanced trade (B) Unilateral trade
(C) Free trade (D) Bilateral trade
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YR o ffeifad T 1 37 Ufgiies foeh o SgaR ITfian & Fefiqan < H §

IR IS 3T T Terehed o1 == Hifsu 1
i) IR (i) =Ee

(Gif) "G (iv) SHIEG

ooy :

A) (i), (@), (), Gv) B) (i), (@), (v), (i)

©) (@, (i), (iv), (i) D) @), (i), (i), Gv)

e Tt firem o el © Tafya ffoifad st ot ergde dfeu 3t &t fashed &1

= HIfS 1

() ET% 3T Gdd AT o T & bl FGET &7 |
(i) 3T AETIERT ol TOTEITYY! SEAR e FEH ST |
(iii) hL TAT B Tl bl USHTR Y AT |

(iv) T8I SIS o Jid JIRGH A i FTeAT ST |
fererey

(A) (i), (iii) 3 (iv) T&1 2 |

B) A (i), (iii) 3 (iv) T& 2 |

(C) e (i), (ii) 3TN (iii) @& & |

(D) I (i), (ii) 3N (v) T & |

TG § I, 91T, UTedl, e, ©iot 3fe T am f=fealRad & 9 forg wenr bt amdfior

STl o 3G & ? 1

A) Tfesd s&d (B) 3rE-Tfesd s&d

(C) deofl st (D) uftfere st

H ) o U T § | Y R (A) 3HT (R) & | SFT AT 1 Sy aigy

IR & ferehed =1 =9 ShifoT 1

FRREA (A) : PN H g TS T9E, SR IR afeaH ST WS o Al FH
R HIHHEAT R 2 |

SO (R) @ A &R QAT 6t g § s & fore sl qeer o1 3uem fohen
ST |

forrey -

(A) THI (A) 71 (R) T& & 31 (R), (A) 1 T& =@ 2 |

(B) THI (A) 7 (R) B 8, Afehd (R), (A) 3 Tl ST 781 ¢ |
(C) (A) =& & 8, 9fe (R) &l © |

(D) (A) T& R, A (R) T T 7 |
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7. Arrange the following towns of India from the oldest to the newest order

based on their historical evolution and choose the correct option : 1
(1) Jaipur (11) Chandigarh

(111) Madurai (1v) Jamshedpur

Options :

A) (), (@), ), @v) B) (), (@), (w), (1)

©) @, (), (w), (1) D) @), (), (), @v)

8. Read the following statements related to the objectives of smart city
mission carefully and choose the correct option : 1
(1) To promote the city with clean and sustainable environment.

(1) To provide decent quality of life to its citizens.
(111) To provide employment to the job seekers.
(1v) To make the city less vulnerable to disasters.
Options :

(A) Only (11), (1i11) and (1v) are correct.

(B) Only (1), (111) and (1v) are correct.

(C) Only (1), (11) and (111) are correct.

(D) Only (1), 11) and (iv) are correct.

9. Local names like Panna, Para, Palli, Nagla, Dhani etc. are examples of

which of the following types of rural settlements in India ? 1
(A) Clustered settlement (B) Semi-clustered settlement
(C) Hamleted settlement (D) Dispersed settlement

10. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option : 1
Assertion (A) : ‘The agriculturally rich states of Punjab, Haryana and
western Uttar Pradesh are facing the crisis of groundwater
depletion.’

Reason (R) : ‘More groundwater is utilised for irrigation than water-
table recharge.’

Options :

(A) Both (A) and (R) are correct and (R) is correct reason of (A).

(B) Both (A) and (R) are correct, but (R) is not the correct reason of (A).

(C) (A) 1s not correct, but (R) 1s correct.

(D) (A) 1s correct, but (R) 1s not correct.
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11. s3feu mef Tax i & gefud fafafad weEi i ermgas afeu 3 98 foshed &1
Wsﬁﬁ&: 1
() st mef T8t qRESET S 1950 T haX B9 gRI Hehfodd fohal TRT T 3T 35h!

1961 5 IRY fepam TR o |

(i) T TS 1 YB3 & HHTS &3 h1 DY AT H Ieoig- 1 I T2 |
(iil) T TS o TERE Wt & &7 SR FHA T H G T3 2 |
(iv) SAR-SToR 3T AT BT sl T 3 =Taet 37fe 3 wfereenfug s fean 2 |
ooy -

(A) e (i), (i) 3 (Qv) T 2 | (B) had (i), (ii) 3R (iil) @& & |
(C) e (1), (iii) 3 (iv) FET 2 | (D) <hae (ii), (iil) 3R (iv) & |

12. R % SFREE AR ¥ Fafea F=faRad ST ol eI qiet 3R &l fashed &1
T ShIfNTT 1

() IAHTH AN TR AT TG I TRl gE 2 |
(i) 9RA % q¢ WIS g H giaspfd a1 8 |
(iii) hISAT ITH St AT § 18— 373=h o1 HITd Har 2 |
(iv) WRI- ST TEG3T T FeHTT g1 INEe T ogd 9T 2 |
forenea
(A) I (i), (i) 3 (v) T & |
(B) Haa (i), (i) 3N (iii) T & |
(C) ad (i), (iii) 3 (iv) T & |
(D) e (ii), (iii) 3N (iv) FE1 2 |
13. &maﬁ%%ﬁgﬂﬁaﬁﬁ(slums)wﬁwﬁwwﬁam%a%?
e forehed o1 == ShiIfNT : 1
() 3TH G SR 9Tt SOER § |
(i) T 3R e St gimd glaemd frem givwa g |
(iii) TETTeR TRl 3R Yaeiel AR 2 |
(iv) &R Te1-Fehret Floremd Juerey € |
forerey
(A)  ad (i), (i) 3 (iii) T & |
(B) dd (ii), (iii) 3R (iv) GE1 2 |
(C) e (i), (iii) 3 (iv) T & |
(D) I (i), (ii) 3N (iv) T & |

14. T Y % G Tt d Fo1 R yaeq wsy efefea # @ foem w@em g

foaaifya 2 2 1
(A) T fershrE (B) TR
(C) uf@s (D) T&=mg
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11. Read the following statements related to Indira Gandhi Canal Project
carefully and choose the correct option : 1
(1) Indira Gandhi Canal project was conceived by Kanwar Sain in 1950
and it was launched in 1961.

(1) Introduction of canal irrigation has brought perceptible changes in
the agricultural economy of the command area.

(111) Spread of canal irrigation has led to increase in cultivated area and
crop intensity.

(iv) Traditional crops of jowar, bajra has been replaced by rice and wheat
etc.

Options :

(A) (1), (1) and (1v) only are correct.

(B) (1), (11) and (111) only are correct.

(C) (1), (111) and (iv) only are correct.

(D) (1), (111) and (v) only are correct.

12. Read the following statements related to international trade of India
carefully and choose the correct option : 1
(1) India has a long coastline surrounded by ocean from three sides.

(1) Indian coasts have large number of well-developed sea ports.

(111) Kandla port exports huge amount of iron-ore.

(1v) The transportation cost by water is very cheap for voluminous items.
Options :

(A) Only (1), (11) and (1v) are correct.

(B) Only (1), (11) and (111) are correct.

(C) Only (1), (111) and (iv) are correct.

(D) Only (1), (111) and (1v) are correct.

13. Why is it that slums are the areas of residence with least choice ? Choose
the correct options : 1
(1) They have dilapidated houses with poor ventilation.

(1) The basic facilities like lights and toilets are difficult to get.
(111) Hygienic conditions and drinking water are improper.

(iv) Better drainage facilities are available.

Options :

(A) Only (1), (11) and (111) are correct.

(B) Only (11), (111) and (iv) are correct.

(C) Only (1), (111) and (iv) are correct.

(D) Only (1), 11) and (iv) are correct.

14. The watershed management programme in Jhabua district of Madhya

Pradesh is funded by which one of the following ministries ? 1
(A) Rural Development (B) Environment
(C) Transport (D) Irrigation
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(i 7 Fawa 379)
e/ 2009-10 | 2010-11 | 2015-16 | 2016-17
N T g 3G 10.0 9.9 12.6 12.3
I T @S 4.9 4.0 1.6 1.9
fafafia awqd 67.4 68.0 72.9 73.6
Ui & TR 3G 16.2 16.8 11.9 11.7
I TEC 1.5 1.2 1.1 0.5
15. Fraferaa 3 & forar Soft <61 ereqait & frata o fiau afg fearh o 2 2 1
(A) PN T qHT IcTE (B) 3% IR @A
(©) fafifiq aegd (D) =&
16. frfefaa o @ forg sioft <t agati & f=id § 2015-16 & 2016-17 a6 Afeehan firEe
TAHITE R 2 1

(A) SN wE Eerfi 3Tq (B) T T WiS
(C) Uiferem 9 STaithd 3TQ D) IFTTHT
17. Tr=feaRaa 8 9 frm soft 1 awqaii & 3Faid 2010-11 8 2016-17 7o T3t 1 9fg e
TS ? 1

(A) PN & gHali 3cTg (B) 31%F 3R @i
(C) Uiferem 9 STaithd 3Tq (D) IF T
Qe -§

U §&AT 18 T 19 Eid-3eia Te 8 |

18. fou T 31=ee o eIy afeu 3R 35k i feu e i < 3 forflaw
HTEE TS HISH W8
T FXIAT o ST JT H TR T 319 Ser-Fatg @ fofe 31w < ardren
W R @A an | gt fea-frafg g whR & SRt gRI BT o7 ¢ (%) USI3Tl T 3TREE
ek 3TN (@) 3T T o SHTSAT & @ I ST N T Shg—TeT 317 hl TehiId i |
FnfeTerTela TuTe STeft wegati W el o | srfefia v st T wee % @
A AN P gRT AIF-I0T Had A | qehelehl {Iehm & HROT FeN Ao -0
YRR & o &l T &, T dead! &=l § @ aTel i 379 ot TSell Tohe
SR A & | 739 RIAR o SR Sfia 6w IAfRi M AT A ST TS E AT TR H # |
UTR{H-hTeT & ARGeeh TR IT Thel o & TSI T R TS ohl FIANT ohid o, fag
TR S 9ot 937371 < T wifia Tt oft |
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Study the following table carefully and answer the Question No. 15 to 17 :
Composition of India’s export : 2009-2017

(Percentage share in exports)

Commodities 2009-10 | 2010-11 | 2015-16 | 2016-17
Agriculture and allied products 10.0 9.9 12.6 12.3
Ore and minerals 4.9 4.0 1.6 1.9
Manufactured goods 67.4 68.0 72.9 73.6
Crude and petroleum products 16.2 16.8 11.9 11.7
Other commodities 1.5 1.2 1.1 0.5

15. Under which one of the following category of commodities, increase in
export 1s continuously observed ? 1
(A) Agriculture and allied products (B) Ore and minerals
(C) Manufactured goods (D) Other commodities

16. Under which one of the following category of commodities, maximum
decline in export is recorded from 2015-16 to 2016-17 ? 1
(A) Agriculture and allied products (B) Ore and minerals
(C) Crude and petroleum products (D) Other commodities

17. Under which one of the following categories of commodities, the increase
in export is observed from 2010-11 to 2016-17 ? 1
(A) Agriculture and allied products (B) Ore and minerals
(C) Crude and petroleum products (D) Other commodities

SECTION -B
Question no. 18 and 19 are Source-Based Questions. (2 x 3 =6)

18. Read the passage carefully and answer the questions that follow :
Hunting and Food Gathering

The earliest human beings depended on their i1mmediate
environment for their sustenance. They subsisted on : (a) animals which
they hunted; and (b) the edible plants which they gathered from forests in
the vicinity.

Primitive societies depended on wild animals. People located in very
cold and extremely hot climates survived on hunting. The people in the
coastal areas still catch fish though fishing has experienced modernisation
due to technological development. Many species, now have become extinct
or endangered due to illegal hunting (poaching). The early hunters used
primitive tools made of stones, twigs or arrows so the number of animals
killed was limited.
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IS GUE Ud A& THaH 31a A1iies fopamd € | fowar o fafier st o =g <
fafir= Tt o fafirm &t 4 fohan Smar 2 | vieH Tug 1 ek Jorangfash gunmati 1 fon
AT 8 | 39 HAThaX ITTCHBIA THTST o T Hid & | T AT 379 WIS, o6 T 35
Sl STTETIhaT <hl Gfd &g T T ST 1 §UE HId & | IH DM < [o1C g A Ioit
e fre Tl qeRiehl T Y 3TTavRIehar Bt 8 | 36 WS 1w oft 7l e & wa ufa
ferd IcqTeehdl i FH BT 2 |
(18.1) TG T3 oh 379 IR < TG T JeoTeh hITT | 1
(18.2) 3few Tt H y3gaTi 1 e Hifta =it o 7 = Hifv | 1
(18.3) 3feHepTeli TS 379 Ty < ararereT W v =i U1 2 =men i |

o

19. Tr=fofaa drferent o1 eamydes srerem Hifve 3 3aes = few e gt 1 3w e - 3

G Y AT f /=T
I AT -ITAT foifdn soma s | avea S A iy
yfeera =1 yfoera
o 1950-51|2014-15 | 1950-51 | 2014-15
Y I SR 8.0 4.0 13.4 6.8
A I 6.1 3.6 10.2 6.2
AR T fH 3.7 4.9 6.2 8.4
Treret s T &= 41.7 45.5 70.0 78.4
Hehel 1Y AT Iy 59.5 58.0 | 100.00 | 100.00

(19.1) 1950-51 < o1 H 2014-15 H ST AT fH H HH} o HRUT 1 Seoh 1T |

(19.2) 1950-51 1 &1 § 2014-15 % SRF IaHM Tl YU H Jhg s HROT I
IooRg HITT |

(19.3) ot o 7w & # FRar gfg o R 6t s i |

Qug -7
9 G 20 § 23 AY-SAHT THR B T & | (4x3=12)
20. (a) fova & & foq W F@, ST 6l Teiedd 3R T Il hi Yfieht 6
T HIfT | 3
7T
(b)  SHTTeRehId HEHHUT FHGT 3h1 I SHEEATIHA shl T hIT | 3
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Gathering and hunting are the oldest economic activity known.
These are carried out at different levels with different orientations.

Gathering is practised in regions with harsh climatic conditions. It
often involves primitive societies, who extract, both plants and animals to
satisfy their needs for food, shelter and clothing. This type of activity
requires a small amount of capital investment and operates at very low
level of technology. The yield per person is very low and little or no
surplus 1s produced.

(18.1) Examine the impact of poaching on wild animals. 1

(18.2) Why was hunting of animals limited in early times ? Explain. 1
(18.3) Why did early man depend upon his immediate natural

environment ? Explain. 1

19. Study the following table carefully and answer the questions that follow : 3

Composition of Total Cultivable Land

As a percentage | As a percentage
Agricultural Land use of Reporting of total
Categories Area cultivable land
1950-51|2014-15|1950-51|2014-15
Culturable waste land 8.0 4.0 13.4 6.8
Fallow other than current fallow 6.1 3.6 10.2 6.2
Current fallow 3.7 4.9 6.2 8.4
Net area sown 41.7 45.5 70.0 78.4
Total Cultivable Land 59.5 58.0 100.00 | 100.00

(19.1) Mention the reason for the decrease in cultivable waste land in
2014-15 as compared to 1950-51.

(19.2) Mention the reason for the increase in current fallow during
2014-15 as compared to 1950-51.

(19.3) Explain the reason of continuous increase in net area sown.

SECTION - C
Question no. 20 to 23 are Short Answer Type Questions. (4 x 3 =12)
20. (a) Examine the role of climate, water availability and soil fertility on

the distribution of world population. 3
OR
(b) Examine three stages of demographic transition theory. 3
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21. TS STAHNT & G o1 3 hHIfT 30T 39k A= feu g o1 3o feifaw

(21.1) 38 < 1 W TARGT TTEm TS 7€t <1 TR W7 3T 2 |

_80°

79°30°

1
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21. Study the map of Rhine waterways and answer the questions that follow :

80° 79°30°

BELGIUM "™

Rhine Waterway
(21.1) Name the country in which most of Rhine river lies. 1
(21.2) Name two countries whose industrial areas are connected by river
Rhine. Yo+ %=1
(21.3) Why is river Rhine world’s most heavily used waterway ? 1

Note : The following questions are for the Visually Impaired
Candidates only in lieu of Question No. 21 :

(21.1) Mention the name of the country from where the Rhine waterway
begins in the upstream.

(21.2) Name the major sea port where river Rhine falls into North Sea.

(21.3) Explain the significance of river Rhine as a water highway of
commerce. 1

22. Explain the main characteristics of rural roads in India. 3

23. Suggest the measures to achieve the objectives of ‘Namami Gange
Programme’. 3
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SECTION -D
Question no. 24 to 28 are Long Answer Type Questions. (5 x 5 = 25)
24. Explain the concept of human development’. Examine four approaches to
human development. 1+4=5

25. (a) Explain the main features of large scale manufacturing industries in
the world. 5
OR

(b) Explain the main features of ‘High Tech’ industries in the world. 5

26. (a) Assess the growth and significance of service sector in the

development of the world economy. 5
OR
(b) Assess the growth and significance of transport and communication
services in the world economy. 5
27. (a) Analyse the rural-urban characteristics of Indian population. 5
OR
(b) Analyse the main features of the composition of working population
in India. 5

28. (a) “Petroleum is an essential source of energy and many byproducts are
associated with its refining.” Explain this statement with examples. 5
OR
(b) “The generation of energy through non-conventional sources is the
need of the hour for sustainable development.” Explain the
statement with examples. 5

SECTION - E
Question no. 29 and 30 are Map Based Questions. (2x5=10)

29. On the outline political map of the world, seven geographical features have
been marked as A, B, C, D, E, F and G. Identify any FIVE of them and
write their names on the lines drawn near them : 5

Major sea port in Germany.

Terminal station of Trans-Siberian Railway.

An international airport.

An area of subsistence gathering.

An important waterway.

An area of ‘Nomadic Herding’.

An area of extensive commercial grain farming.

QHESORE
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Note: The following questions are for the Visually Impaired
Candidates only in lieu of Question No. 29. Answer any
five : 5x1=5

29.1 Name the major seaport in Germany.

29.2  Name the easternmost terminal station of Trans-Siberian Railway.
29.3  Mention an international airport in South Africa.

29.4  Mention an area of subsistence gathering in Canada.

29.5 Name an important waterway of Egypt.

29.6  Mention an area of nomadic herding in Africa.

29.7 Mention an area of extensive commercial grain farming of
Australia.

30. On the given political outline map of India, locate and label any five of
the following geographical features with appropriate symbols. bx1=5

30.1 Important iron ore mines in Odisha.

30.2 An important seaport in Kerala.

30.3 A copper mine in Rajasthan.

30.4  An oil refinery in Bihar.

30.5  An international airport in Punjab.

30.6 A state with highest density of population.
30.7 A state leading in the production of jute.

Note: The following questions are for the Visually Impaired
Candidates only in lieu of Question No. 30. Attempt any
five :

5x1=5
30.1 Name an important iron ore mining area in Odisha.
30.2 Name the main sea port of Kerala.
30.3  Mention the name of a copper mining area of Rajasthan.
30.4 Name the place of an oil refinery in Bihar.

30.5 Mention the name of a place where an international airport is
located in Punjab.

30.6 Name the state with highest density of population.
30.7  Which is the leading state in the production of jute ?
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